Mass
***JSE A METRIC TONNE = 1000kg

Name:

Date:

1. How many kilograms in 1.25 tonne?

O 12.5 O 1250
O 125 O 12500

2. There are ounces in 12
pounds.

of

102061bs

591bs

There are 16 strawberries in the basket.
*total weight = 1 pound
*basket = 4 ounces
3. What is the total weight of the
strawberries?

6. How many pigs weigh the same as
an elephant?

O 58
O 63

O 68
O 75

7. The difference in weight between

O 341g O 4569 an elephant and a giraffe?
O 410 O 493
9 9 O 8.5t O 8508kg
4. What is the average weight of O 8508lbs O 4900lbs
each strawberry?
8. What is the combined weight of
O 5.6g G 35.5g all the animals?
O 3133 O 213 O 128t (O 14598lbs
5. Approximately how much would 16 O 16829lbs O 5831kg
apples weigh? Al oz
M1 b 9. 3.052tonne + 634kg + 8000g =
kilograms
10. _-tonne + 3.7kg - 5700g =
kilograms
O O O O
4.8lbs 6.9lbs 8.5lbs 14.5lbs

Copyright 2013 © Studyladder

www.studyladder.com




